——  Natural classifier

——=Natural classifier, T=0

— = Naive classifier (voting)

Naive classifier, T = 0 (lookup)

10 1

query time (s)

Fashion, RP

Fashion, KD

Fashion, PCA

query time (s)

10 STL-10, RP L 10%
o= /
"“ :
@ ‘._../..-" —/'{J
m 1 -—.l- | | v ‘
10 1 S -~
£ e
> R AL
() __‘,6"
-] 1 . b
o O:,/
10 ]
0.5 0.6 0.7 0.8 0.9 1
. ','
1 Trevi, RP L
10" s 7
"‘-—
’(.D\ ,4“" /’
N—" ‘,ll-ll" J/ .
e - ./
o _/ L )
= I | Y
o -=7 r‘f
g100; ’f—_:-/"',.
> 1 .-
L=
0.5 0.6 0.7 0.8 0.9 1.0 05 0.6

recall

1.0 0.5

0.9

0.6 0.7 0.8 1.0

recall



